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FOIXXI JIBt A3HELS) 133,025 134,925 1,900
ES FOIMEH 2F =4 22,820 22,520 300
&2st FA2Z 22,820 22,520 300
201 B2 AY| 22,820 22,520 300
01 A=R2teld| 5,670 5,370 300
O&IICHERICt=2 150,000& 150
03Il FERNLS
240,000 =122 2,880
ORI TEHIAIAE 23|
160,000« 12& 1,920
O3J18 80| A2l
35,0002+ 122 420
ONSHZE2{I(AD) A DA
300,000 14 300
02 3324l 17,150 17,150 0
OREYS AIBZ2 20,0002 128 240
ORHERZ 150,000& 123 1,800
o®IIE 750,000& « 128 9,000
O - o3 150,0003 6 900
OXtsit st REZ 130,000& 130
OXtS XA 40,000 40
Ozt=2x Bz 1,000,000& 1,000
OstEX KAl 120,000 x 12& 1,440
oulozd Ea 100,000 = 11CH 1,100
(@Fal==I\|:] 1,500,000& 1,500
FoRxE 29 104,005 104,005 0
QIRAE &2 3,800 3,800 0
201 B2 AY| 3,800 3,800 0
01 A=R2teld| 3,800 3,800 0
O=e88L3I| RAE*
150,000& x 12& 1,800
ORIFNE &=z HZHI 1,800,000& 1,800
OXIZIIE IHUE =8 200,000& 200
FOIXXg &4t 4,000 4,000
201 LBt2AY| 4,000 4,000
01 A=R2teld| 4,000 4,000
O=0UIRXI#23 HE&+H
20,0003 x25F «83 4,000
FOIXXG Ty 29 21,09 21,095
201 L2 AY| 4,400 4,400
01 AtR2elt] 4,400 4,400
OF0IXXg 29 4,400,000 4,400




SN BUS
M FOITR JIEE 23S L S)
ool E0INXIE 29 (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
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14 IIEt2 83 16,695 16,695
OFuAxe 8 A+
16,695,000& 16,695
S BHEH =23 75,110 75,110 0
301 EtE NS 75,110 75,110
o7 & - 01 - HE2s24= 75,110 75,110
osd=g 72,960
SAt=t 400,000 x 128« 12& 57,600
o= 400,000 x12&+23] 9,600
o3lol &ML
20,0002 x 122 +23| 122 5,760
oty ¢ 25,0003 x43H *23] 2,150
JHRotD erMEt SUl 2HSD| 6,200 8,400 12,200
CEVECEEN 500 500 0
201 2egh=3| 500 500 0
01 AFR2telHl 500 500 0
O=USSFUES 500,000 500
g2 - dFEgle 0= 4,200 4,200 0
301 EtE N = 4,200 4,200
06 HESLHUHAEIXZ 2,500 2,500
OXSg-l AHIX& 2,500,000& 2,500
4Bt 2as 1,700 1,700 0
OMUI=2SUE 24 1,700,000& 1,700
0I5 XA 1,500 1,500 0
201 223 1,000 1,000
01 At22t2ltl 1,000 1,000
O=23 - HSgA 2EES
1,000,000 1,000
301 EtE N = 500 500
1 BARHIXES 500 500
OZ2%t - MFHAL Z0AL &H|
500,000 500
HY2HAH(ZLS) 109,066 99,238 9,828
el 2| 70,438 62,626 7,812
A2 23] 70,438 62,626 7,812
101 @124H| 70,438 62,626 7,812
01 2= 70,438 62,626 7,812
OAlZRIZR4E 35,278
obg 12,8443 x 1 x34A1 2H+ 122 5,241
olg 11,6023 x2S *34A| 2t 122 9,468
o8g 10,4162 x2S *34A 2t 122 8,500
°9g 9,800 x3E*x34A| 2+ 123 12,069
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obg 250,000& x1Hx 123 3,000
65 185,000& x 1= 123 2,220
78 180,000& 2H x 122 4,320
=8=~9= 175,000 x5 * 128 10,500
=23l 38,628 36,612 2,016
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201 Ler2 | 7,840 5,824 2,016
01 At 22|l 7,840 5,824 2,016
ORNEHE JIE2+EH
240, 0001482 3,520
OJl=gess Iaw
9,0003 «5A!+x8H + 122 4,320
202 Ot 19,968 19,968
01 =WHO4bI 19,968 19,968
OJ|2gR=& ¢t
260,000 x8% » 122 x80% 19,968
203 PR =&H| 9,020 9,020
01 J|22HHRFAH| 6,600 6,600
os% 6,600,000& 6,600
02 IR FAIL| 320 320 0
OX A A& = 40,0002 »8H 320
M FA2IHRFALI 2,100 2,100 0
ORNZE2Y 175,000& x 122 2,100
204 MR AY| 1,800 1,800
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OXMZ AR+ B 1,800
obhz (12 E) 150,000& x1H» 123 1,800
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01 AtR2t2|HI 3,175 3,175 0
OulEAz €5 M 1,600,000& 1,600
osgsgdesll fRNEs
114,520« 12& 1,375
OulEINte =8 200,000 200
02 S3=gHl 1,560 1,560 0
ORER3 130,000 ~12& 1,560
Fe XK= g4zt 3,200 3,200
201 2= 3,200 3,200
01 At22t2l] 3,200 3,200
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OZA A& & 40,0003 *10H 400
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OO0IEXt 2E2 95,0008 %
ORIgACTVEY 30,0002+ 128 360
oJolg Va2 16,5008 % 122 198
Ost2xt SX| 100, 0008+ 122 1,200
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A UES
M #EeHAH(HEES)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HH2IZH(HES) 149,230 146,206 3,024
eIg =g 95,638 9,638 0
FNEE 523 95,638 95,638 0
101 21A4H| 95,638 95,638 0
01 2= 95,638 95,638 0
OAlt2I22+E 48,958
Sdo= 12,5313 %2 *34A 2t 122 10,226
org 11,3192 %3 *34A1 2t 122 13,855
=85 10, 16226 *34Al 2+ 123 24,877
OZA=AHI 140,000 x12E 128 20,160
(OFS= LB 26,520
obs 250,000 «1H« 122 3,000
o6z 185,000 x2&* 12 4,440
o7s 180,000 x3&* 122 6,480
o8=~0= 175,000& 62~ 123 12,600
J1I=288l 53,592 50,568 3,024
SAI12ZH 53,592 50,568 3,024
201 Ler23 | 11,760 8,736 3,024
01 At2t2ltl 11,760 8,736 3,024
ORKNE2g JlE=8H
4400002112 5,280
OJl=gess Iy
9,000 x54]x12&x 122 6,480
202 04| 29,952 29,952
01 =LHOHI 29,952 29,952
OJl=gf=d 0|
260,0003 x 12«12 +80% 29,952
203 HR=H] 10,080 10,080
01 J|2=2gege=a] 6,600 6,600
osg 6,600,000& 6,600
02 3t RS &| 480 480 0
OZ A& 40,0002 12 480
M FA2SHIFII 3,000 3,000 0
ORNEXZZE 250,000 * 122 3,000
204 Xt AH 1,800 1,800
01 MG HI A A 1,800 1,800
OXH_SE RS 1,800
=63 (J12&) 150,000 x 12 * 12 1,800
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SN BE
A FQNR Jlgt 23 E+S)
el oMt FLdE BE XY (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2+ 477,848 515,247 A37,39
FRIXX JIgt BeHE+S) 293,211 334, 111 40,900
S FEidE 88 X4 39,529 75,429 A35,900
alZst FedE 28 39,529 75,429 /35,900
201 fer= 3| 39,529 39,429 100
01 At 2|l 10,570 10,470 100
Osdll 88 === 154,000« 128 1,848
OsZI ZIIZA =2 150,000 150
(OFSPRiFSIN k== 150,000 123 1,800
OAgoIRPR| HY £48
230,000 x 122 2,760
OSOIZHIHXIAIAE
130,000& «12& 1,560
OdatxANd FIEE ==
143,000~ 12 1,716
O3J1¥EI| |X2ell
53,0002 123 636
OXsdEs2I HE 7
100,000 *1H 100
2 352484l 28,959 28,959 0
ORERs 410,000 123 4,920
oMIIea 1,100,000& * 12& 13,200
oY - otk 2= 200,000& +6 1,200
OuSRLFLES 100,000 *22] 200
OAOIETV =82 20,0002~ 12& 240
Od= AME= |l 3,000,000& 3,000
OXEE=N L2 2c 3,130
oAEEHE M= 50,000& * 122 600
o NHSIHA 130,000 «1CH 130
S3-—t=7= 1,500,000 «1CH 1,500
o Xt = Al 900,000 *1TH 900
O3tExt 22l 2,585
o NHSAHAl 45,0002 1CH 45
S3=t=7= 1,100,000 = 1CH 1,100
o Xt = Al 1,440,000 *1CH 1,440
OO0IEXt 22l 484
S == 64,0002 *1CH 64
o Xt = A 420,000 1CH 420
=oIxz 28 S 246,482 248,982 22,500
BIEANE 2 2,962 2,962 0
201 er23| 2,962 2,962 0
01 At2teltl 2,962 2,962 0
OuUZANF €5 MEHI 1,355
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=QIE)| A3IEH IHECIA
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=QIE)| EE 84,9003 = 18f A 85
o &l ItECIX 243,500 204 487
oS & ItECIX 139,000 *2JH 278
ORIAYS ABIIC US4
200,002 200
ORIRNE 23| RXI24H] 1,407
cEBENYDI| SNPe
7,800,000 *2CH *8% 1,248
oxHez)| RAES
1,980,000 8% 159
IR 4,000 5,500 A1,500
201 Bt 4,000 5,500 A1,500
NEEI 4,000 5.500 A1,500
OFBINARIAS Ea+Y
20,000 x25H *83] 4,000
FOXXIE T2 29 25,500 26,500 21,000
201 Lt | 6,100 6,100 0
01 AtR2telt] 6,100 6,100 0
O=0IXtxls 2Z 6, 100,000& 6,100
301 LEBEF 18,400 18,400
14 JIEt2 A3 18,400 18,400
O=2Xxlal 2& 2A=H
18,400,000 18,400
401 AIEHIZL 28I 1,000 1,000
01 Al&Hl 1,000 1,000
O=2IXxlal 2% 2 Al B
1,000,000& 1,000
= - BHEH 29 214,020 214,020 0
301 LEBEF 214,020 214,020
o7 8% - 01% - BHEEsE4= 214,020 214,020
Osd==g 206,720
oJllgsg 400,000 *34H + 122 163,200
S 400,000& x34 H*23| 27,200
oBlol &AL
20,0002 34 B +23|x 12 16,320
Ot 4 25,0002 *146H 23] 7,300
JHRot) etdet Sl =D 7,200 9,700 A2,500
FZE 0288 =4 1,000 1,000 0
201 LBr23| 1,000 1,000 0
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01 AtR2telt] 1,000 1,000 0
O=ozs FUES 500,000& 500
OFAHRIF=XM 29 500,000& 500
A - 8EY Ql= Ot Jt0| 4,700 4,700
301 LB F 4,700 4,700
06 At SHHALIXI 2,500 2,500
OXSLEHUA 29I 2,500,000& 2,500
14 J|Et2 43 2,200 2,200 0
OMOtSZEi2 24 2,200,000& 2,200
=0Igtet X 1,500 1,500 0
201 B2 AY| 1,000 1,000
01 AtR2telt] 1,000 1,000
O=s - MsdAt 2E=23
1,000,000& 1,000
301 LB F 500 500
11 HAIAHIXI A2 500 500
O23t - MsAL O A AlH|
500,000& 500
HY2IAIHI(BE+S) 184,637 179,136 5,501
eI A| 120,497 119,064 1,433
FA2Y 23| 120,497 119,064 1,433
101 @124t 120,497 119,064 1,433
01 2= 120,497 119,064 1,433
OAlIZte 22+ 62,477
Slo= 12, 8443 x2H 34| 2H 123 10,481
o7z 11,6023 «3H+34A| 2t 123 14,201
o8z 10, 4163 *7H«34A 2Hx 123 29,749
=9= 9,860 *2H+34A| 2t 12 8,046
OFAHZ A 140,000 15+ 12& 25,200
OXZEXHI 32,820
obg 250,000&x 1+ 122 3,000
Slo= 185,000 x2ZH 123 4,440
o7= 180,000 3 *12& 6,480
=8=-9= 175,000& x9F =12 18,900
JlE23a| 64,140 60,072 4,068
2AII23| 64,140 60,072 4,068
201 LB-2AY| 14,700 10,632 4,068
01 AtR2elt] 14,700 10,632 4,068
ORNZ2Z JIE2EH|
440,000& 15% 6,600
Ol 2R+ S|
9,000 x5A* 15« 12F 8,100
202 0441 37,440 37,440 0
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ol A oMY BF &y EER=E)
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OsdJl 88 =+& 220,000& * 122 2,640
O&J| ™A =5 150,000& 150
ORUMKBHIAIAE
110,000& x 122 1,320
O3II1E8I| |X2ell
35,0002~ 12& 420
OMsdEE2I| = wHl
100,000 100
02 S3=4gl 10,076 9,9% 120
OoRER3 150,000& 122 1,800
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OFLIXXIZ &9 4,230,000 4,230
301 LEIEN = 18,820 18,820
14 J|EIE A= 18,820 18,820
OF2UXXE 29 2AY
16,420,000& 16,420
OFUXXIE AJASAHAH AHI 24
200,000+ 12& 2,400
JBHEH 29 69,130 69,130
301 LEtEAZ 69,130 69,130
07 S& - 01& - BHEEs8AZ2 69,130 69,130
(@I=FSESt= 66,880
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20,0003 *25H *23|* 12 12,000
ot 25,0002 *113H »23| 5,650
JHRGHD etEEt SUHl S0 7,300 9,700 A2,400
FZ& Ots8d 24 1,300 1,300 0
201 B2 AY| 1,300 1,300 0
01 AR2teld| 1,300 1,300 0
O=0zs FES 600,000& 600
OFAHRI=XM 249 700,000 700
HA  MEYEU=0t2IH3R0| 4,500 4,500 0
301 LetEHZ 4,500 4,500
06 XL HAHIXIR 2,500 2,500
OXrs2En AUIX& 2,500,000& 2,500
14 J|EtE A= 2,000 2,000 0
OMOISZ49ia 24 2,000,000& 2,000
=0t kI 1,500 1,500 0
201 B2 AL 1,000 1,000
01 A=R2teld| 1,000 1,000
O3 - Msd8A 28 =3
1,000,000& 1,000
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2N YFS
MM FOIXX D1 AP F2S)
&l RSt oHMEH SUl 2SI EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
301 LPBNZ 500 500
11 HAAHIXIE S 500 500
O=23st - MsdHAL 0 A
500,000& 500
HERAEH(FEF2S) 169,258 165,434 3,824
oIz 2| 112,150 111,602 548
PA2Y E2F| 112,150 111,602 548
101 214 d| 112,150 111,602 548
01 2= 112,150 111,602 548
OAII2I22+Y 57,970
o622 12,8442 x2H«34A | 2Hx 12 10,481
o7= 11,6022 =2H«34A 2H+ 123 9,468
=8= 10,4163 «8H*34A| 2t 123 33,998
=9= 9,860R x 1H+34A| 2t 123 4,023
OFAZ Al 140,000 *14H + 12& 23,520
OXZEXH| 30,660
obg 250,000 x 18+ 123 3,000
Slo= 185,000&2H + 122 4,440
o7z 180,000 x2Z 12 4,320
o8=~9=2 175,000 x0H » 123 18,900
JlE23| 57,108 53,832 3,276
fAMI1=Z| 57,108 53,832 3,276
201 B2 AL 12,740 9,464 3,276
01 A=R2teld| 12,740 9,464 3,276
OFAMEZ JI=2424|
440,000& *13H 5,720
OJ|2gR+d S|
9,000 x5A 13« 12& 7,020
202 0idl 32,448 32,448
01 =LHO4b]| 32,448 32,448
OJl=2gR=d 0ol
260,000 13 =122 x80% 32,448
203 AR F=&lY| 10,120 10,120
01 J|22H PR FAIH| 6,600 6,600
Oos% 6,600,000& 6,600
02 R RFAIL| 520 520 0
OZXJ AL | &= 40,0002 x 13 520
M EAM2IHRFA| 3,000 3,000 0
ORAME=H2Z 250,000& =123 3,000
204 M AH| 1,800 1,800
01 AHZHRHAH| 1,800 1,800
O M HAF A ZFH| 1,800
obhZ2(J|HE) 150,000& x 19+ 12 1,800
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